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General Instructions ; -
(1) The question paper has 30 questions in all. All questicns are compulsory.
(i)  Marks are indicated against each question.
(ifi)  Questions from serial number 1 to 8 carries 1 mark each.
(iv) Questions from serial number 9 to 20 are 3 mark questions. Answer of these
questions should not exceed 80 words each.

(v)  Questions from serial number 21 to 28 are 5 mark questions. Answer of these
questions should not exceed 120 words cach.

(vi) Question number 29 and 30 are of history and Geography map questions of 3
marks each. After completion, attach the map inside your answer book.
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How was the defence expenditure of First World War financed ?
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Mention any one use of pipelines as a means of transport.
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What does the challenge of expansion faced by established democracies involve ?
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How did the well- laid sewer sysiem in the modern part of Hanoi prove tobe a curse in 1
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Menhon any two factors which have stimulated the globalization process,
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Whal is agricultural credit ?
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How did the Muslimns respond to the Civil Disobedience Movement
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Describe the process by which Italy was unified.
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Explain the significance of chemical industry in the development of Indian economy.
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Explain any three forms in which minerals generally occur.

List out the to
India.
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Whiat are ‘De

maocratic ReformS'? By whom are these carried out ?
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What is a political party? State its components.
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“Although democracy is said to be the solution to all problems, yet i -
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economic growth rate in dictatorship is better than that in democratic Ny Seud tha g,
statement with any three suitable arguments. Pport gy,
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How does Indian MNC's benefit the people in the country ? Explain.
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Why do the manufacturers display information about their products ? How does this benesit the
consumers ?
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. able credit js essential for poor households both in rural and urban areas:
In the hght of the above

statement explain the social and economic values attached to it.
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Explain the causes for launching the Khilafat Movements in India,
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Describe the background and execution of the process of Italian unification,
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Which three countries did comprise Indo - China ? And how did Indo - China’s early 1‘:1'5;3131
show that different group of people had lived in this area under the shadow of po

empire of China? Explain,
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Describe the qualities of two types of iron ore found in India. Mention the major areas known

for the production of iron ore.
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How do farmers get into debt traps ? Explain.
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Two features (A) and (B) are marked in the given outline political map of India. Identify these
features with the help of the following information and write their correct names on the lines

marked in the map :
(A)  The place where peasant Satyagraha was organised by Gandhiji

(B)  The place where the session of Indian National Congress was held

1920.
On the same political outline map of India locate and label the following items with

in september

appropriate symbol :
(C)  The Chauri - Chaura

Note : The following questions are for the visually impaired candidates only in licu of map

question,
(29.1)At which place in Gujarat did Gandhiji organise peasant
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: i iti ine map of India. identify
the I ite A and B are shown in the given political outline map

i i 2 ect names on
with the help of following information and write their corr
Marked on the map:

(b) (B) 2 Major Sea port.
On Nuclear power plant. ) o o
app, Same political outline map of India, locate and label the following items
Q "Priate symbols :
Nme ' Th Ananthnag : Famous for silk industry.

ollowing questions are for the visually impaired candidates only in lieu of map
(30.1) ?uesﬁon.

(30.9) " Which state is Haldia port located ?
(303 Name the Nuclear power plant of Karnataka.
) Name the international Airport of Kolkatta.
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